

Summary of Bids Received

Project: 2011 Various Culvert Replacements

Section: 10-00999-13-DR

Description: Replacement of culverts on various county highways.

CPMS Pin: B-00941 **Let Date:** 7/26/2011

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Maneval Construction Co Inc.	1015 North Corporate Circle	•	Bid Bond	\$147,305.80	35.34%	\$38,463.80
Berger Excavating Contractors	1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$169,112.50	55.37%	\$60,270.50
Campanella & Sons, Inc.	39207 N Magnetics Blvd	Wadsworth, IL 60083	Bid Bond	\$175,164.30	60.93%	\$66,322.30
ake County Grading Company	32901 N. IL Rte 21	Libertyville, IL 60048	Bid Bond	\$269,991.00	148.06%	\$161,149.00
Copenhaver Construction	121 Center St.	Gilberts, IL 60136	Bid Bond	\$312,858.00	187.44%	\$204,016.00
Engineer's Estimate				\$108,842.00		
Design	IDOT(2)	Contract Bidder		1GB then Plan Rack		
inance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail		1gr Capital Progran	nming	



Return Bid Tabulation

Project: 2011 Various Culvert Replacements

Section: 10-00999-13-DR

Description: Replacement of culverts on various county highways.

CPMS Pin: B-00941 **Let Date:** 7/26/2011

Item	Pay Code	Description	Code Description		Unit	Eng Est	imate	Berger Excavati	ng Contractors	Campanella	& Sons, Inc.	Lake County Gra	ading Company	Maneval Const	ruction Co Inc.	Copenhaver (Construction
No.	,	, , , , , , , , , , , , , , , , , , ,	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	12.00	UNIT	\$25.00	\$300.00	\$62.50	\$750.00	\$68.75	\$825.00	\$50.00	\$600.00	\$66.00	\$792.00	\$35.00	\$420.00	
2	20800150	TRENCH BACKFILL	110.00	CY	\$50.00	\$5,500.00	\$38.00	\$4,180.00	\$39.40	\$4,334.00	\$150.00	\$16,500.00	\$54.00	\$5,940.00	\$40.00	\$4,400.00	
3	21400100	GRADING AND SHAPING DITCHES	255.00	FT	\$30.00	\$7,650.00	\$33.00	\$8,415.00	\$21.95	\$5,597.25	\$60.00	\$15,300.00	\$14.40	\$3,672.00	\$16.00	\$4,080.00	
4	28000305	TEMPORARY DITCH CHECKS	42.00	FT	\$22.00	\$924.00	\$40.00	\$1,680.00	\$12.35	\$518.70	\$22.00	\$924.00	\$9.60	\$403.20	\$5.00	\$210.00	
5	28000400	PERIMETER EROSION BARRIER	115.00	FT	\$5.00	\$575.00	\$6.00	\$690.00	\$4.05	\$465.75	\$5.00	\$575.00	\$2.94	\$338.10	\$5.00	\$575.00	
6	28100105	STONE RIP-RAP, CLASS A3	14.00	SY	\$80.00	\$1,120.00	\$155.00	\$2,170.00	\$71.75	\$1,004.50	\$120.00	\$1,680.00	\$54.00	\$756.00	\$85.00	\$1,190.00	
7	50105220	PIPE CULVERT REMOVAL	408.00	FT	\$12.50	\$5,100.00	\$20.00	\$8,160.00	\$14.15	\$5,773.20	\$57.00	\$23,256.00	\$33.60	\$13,708.80	\$25.00	\$10,200.00	
8	54213663	PRECAST REINFORCED FLARED END SECTIONS, 18"	1.00	EA	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,485.00	\$1,485.00	\$950.00	\$950.00	\$534.00	\$534.00	\$600.00	\$600.00	
9	54213669	PRECAST REINFORCED FLARED END SECTIONS, 24"	12.00	EA	\$1,200.00	\$14,400.00	\$1,900.00	\$22,800.00	\$1,605.00 \$19,260.00		\$1,650.00	\$19,800.00	\$654.00	\$7,848.00	\$700.00	\$8,400.00	
10	54247130	GRATING FOR CONCRETE FES, 24"	12.00	EA	\$120.00	\$1,440.00	\$450.00	\$5,400.00	\$475.00	\$5,700.00	\$350.00	\$4,200.00	\$774.00	\$9,288.00	\$700.00	\$8,400.00	
11	550A0090	STORM SEWERS, CLASS A, TYPE 1, 18"	61.00	FT	\$75.00	\$4,575.00	\$92.00	\$5,612.00	\$147.55	\$9,000.55	\$105.00	\$6,405.00	\$122.40	\$7,466.40	\$100.00	\$6,100.00	
12	550A0120	STORM SEWERS, CLASS A, TYPE 1, 24"	295.00	FT	\$85.00	\$25,075.00	\$96.00	\$28,320.00	\$163.70	\$48,291.50	\$132.00	\$38,940.00	\$136.80	\$40,356.00	\$120.00	\$35,400.00	
13	60218400	MANHOLE, TYPE A, 4' DIA, TY 1 FRAME, CLOSED LID	1.00	EA	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$1,955.00	\$1,955.00	\$2,900.00	\$2,900.00	\$1,500.00	\$1,500.00	\$3,600.00	\$3,600.00	
14	61140600	STORM SEWERS (SPECIAL), 18"	35.00	FT	\$85.00	\$2,975.00	\$210.00	\$7,350.00	\$346.45	\$12,125.75	\$260.00	\$9,100.00	\$78.00	\$2,730.00	\$110.00	\$3,850.00	
15	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	216.00	FT	\$5.00	\$1,080.00	\$35.00	\$7,560.00	\$38.50	\$8,316.00	\$22.00	\$4,752.00	\$26.40	\$5,702.40	\$40.00	\$8,640.00	
16		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	1,978.00	UNIT	\$1.00	\$1,978.00	\$1.00	\$1,978.00	\$1.00	\$1,978.00	\$1.00	\$1,978.00	\$1.00	\$1,978.00	\$1.00	\$1,978.00	
17	X0325825	PAVEMENT REPLACEMENT	190.00	SY	\$90.00	\$17,100.00	\$160.00	\$30,400.00	\$150.40	\$28,576.00	\$400.00	\$76,000.00	\$120.00	\$22,800.00	\$130.00	\$24,700.00	
18	X2020110	GRADING AND SHAPING SHOULDERS	1.00	UNIT	\$500.00	\$500.00	\$1,300.00	\$1,300.00	\$696.00	\$696.00	\$450.00	\$450.00	\$5,640.00	\$5,640.00	\$16,000.00	\$16,000.00	
19	X2800500	INLET PROTECTION, SPECIAL	1.00	EA	\$200.00	\$200.00	\$100.00	\$100.00	\$225.00	\$225.00	\$165.00	\$165.00	\$90.00	\$90.00	\$120.00	\$120.00	
20	X6013600	PIPE UNDERDRAINS, 4" (MODIFIED)	12.00	FT	\$30.00	\$360.00	\$45.00	\$540.00	\$79.55	\$954.60	\$53.00	\$636.00	\$14.40	\$172.80	\$60.00	\$720.00	
21	X7010216	TRAFFIC CONTROL & PROTECTION (SPECIAL)	1.00	LS	\$8,000.00	\$8,000.00	\$16,000.00	\$16,000.00	\$5,200.00	\$5,200.00	\$23,850.00	\$23,850.00	\$12,600.00	\$12,600.00	\$168,000.00	\$168,000.00	
22	XX006343	SEEDING (COMPLETE)	915.00	SY	\$6.00	\$5,490.00	\$11.50	\$10,522.50	\$13.50	\$12,352.50	\$22.00	\$20,130.00	\$2.94	\$2,690.10	\$5.00	\$4 <i>,</i> 575.00	
23	Z0018700	DRAINAGE STRUCTURE TO BE REMOVED	1.00	EA	\$1,500.00	\$1,500.00	\$685.00	\$685.00	\$530.00	\$530.00	\$900.00	\$900.00	\$300.00	\$300.00	\$700.00	\$700.00	
		Bid Total				\$108,842.00		\$169,112.50		\$175,164.30		\$269,991.00		\$147,305.80		\$312,858.00	



Return Bid Details

Project: 2011 Various Culvert Replacements

Section: 10-00999-13-DR

Description: Replacement of culverts on various county highways.

CPMS Pin: B-00941 **Let Date:** 7/26/2011

Item Pay Co	Day Codo	Description	Quantity	Unit	Eng Estimate		Min Pid Price	May Bid Drice	Avg. Bid Price	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	wiin. Bid Price	Max. Bid Price	Avg. Diu Price	
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	12	UNIT	\$25.00	\$300.00	\$35.00	\$68.75	\$56.45	
2	20800150	TRENCH BACKFILL	110	CY	\$50.00	\$5,500.00	\$38.00	\$150.00	\$64.28	
3	21400100	GRADING AND SHAPING DITCHES	255	FT	\$30.00	\$7,650.00	\$14.40	\$60.00	\$29.07	
4	28000305	TEMPORARY DITCH CHECKS	42	FT	\$22.00	\$924.00	\$5.00	\$40.00	\$17.79	
5	28000400	PERIMETER EROSION BARRIER	115	FT	\$5.00	\$575.00	\$2.94	\$6.00	\$4.60	
6	28100105	STONE RIP-RAP, CLASS A3	14	SY	\$80.00	\$1,120.00	\$54.00	\$155.00	\$97.15	
7	50105220	PIPE CULVERT REMOVAL	408	FT	\$12.50	\$5,100.00	\$14.15	\$57.00	\$29.95	
8	54213663	PRECAST REINFORCED FLARED END SECTIONS, 18"	1	EA	\$1,000.00	\$1,000.00	\$534.00	\$1,500.00	\$1,013.80	
9	54213669	PRECAST REINFORCED FLARED END SECTIONS, 24"	12	EA	\$1,200.00	\$14,400.00	\$654.00	\$1,900.00	\$1,301.80	
10	54247130	GRATING FOR CONCRETE FES, 24"	12	EA	\$120.00	\$1,440.00	\$350.00	\$774.00	\$549.80	
11	550A0090	STORM SEWERS, CLASS A, TYPE 1, 18"	61	FT	\$75.00	\$4,575.00	\$92.00	\$147.55	\$113.39	
12	550A0120	STORM SEWERS, CLASS A, TYPE 1, 24"	295	FT	\$85.00	\$25,075.00	\$96.00	\$163.70	\$129.70	
13	60218400	MANHOLE, TYPE A, 4' DIA, TY 1 FRAME, CLOSED LID	1	EA	\$2,000.00	\$2,000.00	\$1,500.00	\$3,600.00	\$2,591.00	
14	61140600	STORM SEWERS (SPECIAL), 18"	35	FT	\$85.00	\$2,975.00	\$78.00	\$346.45	\$200.89	



Return Bid Details

Project: 2011 Various Culvert Replacements

Section: 10-00999-13-DR

Description: Replacement of culverts on various county highways.

CPMS Pin: B-00941 **Let Date:** 7/26/2011

Item	Day Codo	e Description	Quantity	Unit	Eng Estimate		Min Rid Drice	Max. Bid Price	Avg. Bid Price	
No.	Pay Code	Description	Quantity	Oiiit	Unit Price	Extnd. Price	Willi. Blu Price	IVIAX. BIU PIICE	Avg. Did Frice	
15	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	216	FT	\$5.00	\$1,080.00	\$22.00	\$40.00	\$32.38	
16	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	1,978	UNIT	\$1.00	\$1,978.00	\$1.00	\$1.00	\$1.00	
17	X0325825	PAVEMENT REPLACEMENT	190	SY	\$90.00	\$17,100.00	\$120.00	\$400.00	\$192.08	
18	X2020110	GRADING AND SHAPING SHOULDERS	1	UNIT	\$500.00	\$500.00	\$450.00	\$16,000.00	\$4,817.20	
19	X2800500	INLET PROTECTION, SPECIAL	1	EA	\$200.00	\$200.00	\$90.00	\$225.00	\$140.00	
20	X6013600	PIPE UNDERDRAINS, 4" (MODIFIED)	12	FT	\$30.00	\$360.00	\$14.40	\$79.55	\$50.39	
21	X7010216	TRAFFIC CONTROL & PROTECTION (SPECIAL)	1	LS	\$8,000.00	\$8,000.00	\$5,200.00	\$168,000.00	\$45,130.00	
22	XX006343	SEEDING (COMPLETE)	915	SY	\$6.00	\$5,490.00	\$2.94	\$22.00	\$10.99	
23	Z0018700	DRAINAGE STRUCTURE TO BE REMOVED	1	EA	\$1,500.00	\$1,500.00	\$300.00	\$900.00	\$623.00	
		Bid Total				\$108,842.00				